
� No.153-10-1 �

No.153-10-1 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 8996÷ 27 = (2) 3676÷ 63 = (3) 9633÷ 32 = (4) 3540÷ 35 =

(5) 6359÷ 30 = (6) 6109÷ 68 = (7) 8413÷ 28 = (8) 9476÷ 15 =

(9) 1848÷ 25 = (10) 3529÷ 75 =

� 13th-note �



� No.153-10-1 �

No.153-10-1 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 8996÷ 27 =

333 · · · 5
(2) 3676÷ 63 =

58 · · · 22
(3) 9633÷ 32 =

301 · · · 1
(4) 3540÷ 35 =

101 · · · 5

(5) 6359÷ 30 =

211 · · · 29
(6) 6109÷ 68 =

89 · · · 57
(7) 8413÷ 28 =

300 · · · 13
(8) 9476÷ 15 =

631 · · · 11

(9) 1848÷ 25 =

73 · · · 23
(10) 3529÷ 75 =

47 · · · 4

� 13th-note �



� No.153-10-2 �

No.153-10-2 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 1214÷ 21 = (2) 7619÷ 58 = (3) 1064÷ 79 = (4) 2493÷ 65 =

(5) 1996÷ 57 = (6) 1001÷ 21 = (7) 2421÷ 13 = (8) 4664÷ 32 =

(9) 9907÷ 22 = (10) 3208÷ 42 =

� 13th-note �



� No.153-10-2 �

No.153-10-2 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 1214÷ 21 =

57 · · · 17
(2) 7619÷ 58 =

131 · · · 21
(3) 1064÷ 79 =

13 · · · 37
(4) 2493÷ 65 =

38 · · · 23

(5) 1996÷ 57 =

35 · · · 1
(6) 1001÷ 21 =

47 · · · 14
(7) 2421÷ 13 =

186 · · · 3
(8) 4664÷ 32 =

145 · · · 24

(9) 9907÷ 22 =

450 · · · 7
(10) 3208÷ 42 =

76 · · · 16

� 13th-note �



� No.153-10-3 �

No.153-10-3 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 9023÷ 54 = (2) 1480÷ 33 = (3) 5399÷ 28 = (4) 2394÷ 22 =

(5) 9738÷ 32 = (6) 9849÷ 14 = (7) 6077÷ 50 = (8) 9148÷ 33 =

(9) 1661÷ 30 = (10) 5579÷ 91 =

� 13th-note �



� No.153-10-3 �

No.153-10-3 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 9023÷ 54 =

167 · · · 5
(2) 1480÷ 33 =

44 · · · 28
(3) 5399÷ 28 =

192 · · · 23
(4) 2394÷ 22 =

108 · · · 18

(5) 9738÷ 32 =

304 · · · 10
(6) 9849÷ 14 =

703 · · · 7
(7) 6077÷ 50 =

121 · · · 27
(8) 9148÷ 33 =

277 · · · 7

(9) 1661÷ 30 =

55 · · · 11
(10) 5579÷ 91 =

61 · · · 28

� 13th-note �



� No.153-10-4 �

No.153-10-4 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 3329÷ 41 = (2) 2707÷ 41 = (3) 9492÷ 74 = (4) 9463÷ 20 =

(5) 3716÷ 39 = (6) 9696÷ 28 = (7) 4821÷ 59 = (8) 6911÷ 56 =

(9) 9223÷ 26 = (10) 5158÷ 92 =

� 13th-note �



� No.153-10-4 �

No.153-10-4 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 3329÷ 41 =

81 · · · 8
(2) 2707÷ 41 =

66 · · · 1
(3) 9492÷ 74 =

128 · · · 20
(4) 9463÷ 20 =

473 · · · 3

(5) 3716÷ 39 =

95 · · · 11
(6) 9696÷ 28 =

346 · · · 8
(7) 4821÷ 59 =

81 · · · 42
(8) 6911÷ 56 =

123 · · · 23

(9) 9223÷ 26 =

354 · · · 19
(10) 5158÷ 92 =

56 · · · 6

� 13th-note �



� No.153-10-5 �

No.153-10-5 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 2979÷ 35 = (2) 9566÷ 59 = (3) 3925÷ 80 = (4) 5097÷ 66 =

(5) 3653÷ 33 = (6) 3655÷ 36 = (7) 1422÷ 40 = (8) 5806÷ 91 =

(9) 9324÷ 43 = (10) 1237÷ 48 =

� 13th-note �



� No.153-10-5 �

No.153-10-5 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 2979÷ 35 =

85 · · · 4
(2) 9566÷ 59 =

162 · · · 8
(3) 3925÷ 80 =

49 · · · 5
(4) 5097÷ 66 =

77 · · · 15

(5) 3653÷ 33 =

110 · · · 23
(6) 3655÷ 36 =

101 · · · 19
(7) 1422÷ 40 =

35 · · · 22
(8) 5806÷ 91 =

63 · · · 73

(9) 9324÷ 43 =

216 · · · 36
(10) 1237÷ 48 =

25 · · · 37

� 13th-note �



� No.153-10-6 �

No.153-10-6 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 5628÷ 18 = (2) 9815÷ 43 = (3) 3600÷ 17 = (4) 2392÷ 55 =

(5) 2467÷ 46 = (6) 7526÷ 41 = (7) 2191÷ 53 = (8) 7376÷ 40 =

(9) 5489÷ 22 = (10) 8223÷ 13 =

� 13th-note �



� No.153-10-6 �

No.153-10-6 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 5628÷ 18 =

312 · · · 12
(2) 9815÷ 43 =

228 · · · 11
(3) 3600÷ 17 =

211 · · · 13
(4) 2392÷ 55 =

43 · · · 27

(5) 2467÷ 46 =

53 · · · 29
(6) 7526÷ 41 =

183 · · · 23
(7) 2191÷ 53 =

41 · · · 18
(8) 7376÷ 40 =

184 · · · 16

(9) 5489÷ 22 =

249 · · · 11
(10) 8223÷ 13 =

632 · · · 7

� 13th-note �



� No.153-10-7 �

No.153-10-7 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 6956÷ 92 = (2) 3696÷ 62 = (3) 6940÷ 22 = (4) 9244÷ 60 =

(5) 7013÷ 51 = (6) 9430÷ 52 = (7) 3268÷ 56 = (8) 9030÷ 69 =

(9) 6131÷ 37 = (10) 9667÷ 12 =

� 13th-note �



� No.153-10-7 �

No.153-10-7 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 6956÷ 92 =

75 · · · 56
(2) 3696÷ 62 =

59 · · · 38
(3) 6940÷ 22 =

315 · · · 10
(4) 9244÷ 60 =

154 · · · 4

(5) 7013÷ 51 =

137 · · · 26
(6) 9430÷ 52 =

181 · · · 18
(7) 3268÷ 56 =

58 · · · 20
(8) 9030÷ 69 =

130 · · · 60

(9) 6131÷ 37 =

165 · · · 26
(10) 9667÷ 12 =

805 · · · 7

� 13th-note �



� No.153-10-8 �

No.153-10-8 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 1315÷ 56 = (2) 8329÷ 16 = (3) 6807÷ 95 = (4) 3799÷ 66 =

(5) 4609÷ 95 = (6) 6846÷ 46 = (7) 9441÷ 85 = (8) 6472÷ 57 =

(9) 5085÷ 35 = (10) 3780÷ 11 =

� 13th-note �



� No.153-10-8 �

No.153-10-8 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 1315÷ 56 =

23 · · · 27
(2) 8329÷ 16 =

520 · · · 9
(3) 6807÷ 95 =

71 · · · 62
(4) 3799÷ 66 =

57 · · · 37

(5) 4609÷ 95 =

48 · · · 49
(6) 6846÷ 46 =

148 · · · 38
(7) 9441÷ 85 =

111 · · · 6
(8) 6472÷ 57 =

113 · · · 31

(9) 5085÷ 35 =

145 · · · 10
(10) 3780÷ 11 =

343 · · · 7

� 13th-note �



� No.153-10-9 �

No.153-10-9 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 5327÷ 53 = (2) 7239÷ 71 = (3) 3258÷ 58 = (4) 6762÷ 29 =

(5) 7835÷ 18 = (6) 7161÷ 91 = (7) 3312÷ 13 = (8) 2242÷ 12 =

(9) 9651÷ 60 = (10) 6918÷ 29 =

� 13th-note �



� No.153-10-9 �

No.153-10-9 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 5327÷ 53 =

100 · · · 27
(2) 7239÷ 71 =

101 · · · 68
(3) 3258÷ 58 =

56 · · · 10
(4) 6762÷ 29 =

233 · · · 5

(5) 7835÷ 18 =

435 · · · 5
(6) 7161÷ 91 =

78 · · · 63
(7) 3312÷ 13 =

254 · · · 10
(8) 2242÷ 12 =

186 · · · 10

(9) 9651÷ 60 =

160 · · · 51
(10) 6918÷ 29 =

238 · · · 16

� 13th-note �



� No.153-10-10 �

No.153-10-10 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 3375÷ 85 = (2) 1676÷ 23 = (3) 2859÷ 23 = (4) 6289÷ 45 =

(5) 8000÷ 37 = (6) 3104÷ 42 = (7) 5531÷ 14 = (8) 3161÷ 36 =

(9) 5288÷ 35 = (10) 7695÷ 62 =

� 13th-note �



� No.153-10-10 �

No.153-10-10 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 3375÷ 85 =

39 · · · 60
(2) 1676÷ 23 =

72 · · · 20
(3) 2859÷ 23 =

124 · · · 7
(4) 6289÷ 45 =

139 · · · 34

(5) 8000÷ 37 =

216 · · · 8
(6) 3104÷ 42 =

73 · · · 38
(7) 5531÷ 14 =

395 · · · 1
(8) 3161÷ 36 =

87 · · · 29

(9) 5288÷ 35 =

151 · · · 3
(10) 7695÷ 62 =

124 · · · 7

� 13th-note �


